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Section 1
0.1) 8850 FEPoaHS 0P PR ©F HF @8 IGE EIDEFD?

[A] GEErS

[B] Seseiss ari8850
[C] egorarol

[D] o0& @rogo

Q.2) &5 568 &) H8° HH?
[A] rhoaeken

| B] Q3] ao5®

[C] o8 a5d

[D] &) & a6

Q3) 0T TEIE; HRTOL 8020808 TS Ty ézéagsgo&
[A] o558 &5

[B] 3858 8aead 8850

[C] & oS

[D] &85 Barecho

Q.4) &g BSBR e8 Heo 12 &, 8o 13 . ©ons ég FEER IB°050 D0&?
[A] 60 5.80.
[B] 55%.8.
[C] 50 5.8.



D] 45 ..

Q.5) 20rPG6S® ABETodS @orb—19 ©HH08 8 (2016) 88 A%8>?
[A] o5 (D&

[B] O30S 2587

[C] S8S Kored

[D] @& o8

Q.6) 89y% BEEHODH ST SES508 BN HH% HEPTB0 a%0a.
S

L. 38chore Eten &8 SNob.

IT. @oéécséao‘ﬁa Sné S0 $8 Shob.

[A] I se8es0, I 585553080

[B] II se8ee0, I 58552850

[C] I, 11 3RES B80 @038

[D] I, IT en $:80@c0d so8epedd Hgearen

.7)2.8 H008° SdE yen 1 0.80. = 18.5 8.80., & H008° A, B o iy &wedo 22.25
20.80. @08 @ 3ot PETe &y Erdo Jod? (&.80.08%)

[A] 411.625
[B] 425.615
[C] 412.625
[D] 405.615

0.8) 808 &S B Ty ééﬁ)gsgroé.



|A] 2808 gD
[B] 2008 a5
[C] 208 ao5d
[D] o388 &30

0920186 ams8,10656° oS om& S8 Hrrdo Te?
[A] %8, B3&

[B] 27 IS

[C] 388 &$0&

[D] 8%r8 $5;

Q10 2.8 88 erde® 'who are you'd 'let wet net' o, you are John & net let fat
&, John is good & get set fat e oon, is Heso E&?

[A] set
[B] get
[C] fat
D] Sgowoiﬁéo

Q.11) 2015 9550 T8 grE8RF0 wotrd)Bsee® A HOEES PHGH FHood.
[A] 2
[B] 3
[C] 4
[D]'5

0.12)Ben &8 Bogrd) Kot 60 8.50. 3508 30 JEIS° 38" & Few LD NoB?



|A] 250 .
[B] 750 &.
[C] 500 &.
[D] 450 &.

0.13) DS 22085500855 @ HosForer VO ToEH?
[A] 8558 BobS 8 Rof 1

[B] 8568 2083 & doh 11

[C] oo&o R0f 1

[D] &S doh

Q-14) 8oS &8 (B35S, 70y ATeeaen B 8.

28R

pod0B0rT EH05 DB BowoSBL. D GRS HSHS® Sord.
Nordesen:

L 85556 % Sy yoLore &owed.

I1. &&°5en DABFHTEHBH 0D BADD.

SIANISITANINY éOU;ESeaeJeS'S DB B°8)Borr 808" EXPKod.
[A] Noedes 1 5@ ©0H50%08.

[B] Joedes 11 LB 0H58%08.

[C] B0t e90K8e00

[D] I, IT 9508802559

Q.15) gPEEBE w0t IS8 2015 H5e80 081 i) @S0 6 TPHo 6?
[A] &P



| B essoy 88,6
[C] Sos85:5838
[D] o8 SSa66

0169876 + 34.567 - ? = 9908.221
[A] 23.45
[B] 234.6
[C] 2.345
[D] 2.346

a.17) A Bw8) arér B arérd Sotd 3. B arer C arérdd $otd 36, 88 AQBS® 08
&e. 1800/ - 39 B arér?

[A] Rs. 1080
[B] Rs. 540
[C] Rs. 180
[D] Rs. 900

.18) S PR B ITAR: : DS ?
[A] Q&8

|B] &0

[C] EIELS

[D] Sarem

219808 FPoo@ aop H00S 8 T FSer S¥o V6?2
[A] 888 Ssras



|B| £°65 R&m08 96
[C] 88 558 s¥o
[D] s085-880S £555 2808 §¥6,

020595 90D i e Hioiy HOEK R oD 967
[A] &35

|B] s8R @ @8y&

[C] 3¢5 o35

[D] 50,6 8 68,8

I
~

Q-21) (a +b +c) = 6 5080 a? + b3 + ¢ = 14 ewows (ab + be + ca)=*
[A] 22
[B] 11
[C] 33
[D] 44

Q.22) 25)632623&0 130 @ 33& EOTE ?
[A] &35

[B] 35,8

[C] Soghis

[D] e

Q.23) aadiwmeg%eﬁs RS TP AB?
[A] 3o EPesS
[B] e



|C| 235
[D] S“ég:)g Qa_ @?\)5

0.24) S8 9558¢30A &% & Eond HBHho Fok?
[A] 2da%

[B] 285

[C] &8&

[D] 208508,

(]

Q.25) 7 PR0S® oS Hifo HB?
BDACE, GIFHJ, 2, QSPRT.....

[A] LMKNO

[B] NLKOM

[C] LNKMO

[D] KLNOM

a2 3, 4, 5, 608 JZpdorr grhosarreodl 3105% Soard)s 834 Sopy 808%08.
[A] 15
[B] 12
[C] 11
[D] 10

0.27) B0 BT 0300XTe0 &) PGS Jren, AY AP 1 : 3, 2 1 1. BodH PG
B0 B DBYE A8?

[A] 11:13



|B] 13:11
[C] 9:11
[D] 11:9

Q-28)  extinguishes fire.
200803 &965 TN V&?

[A] O2

[B] CO,

[C] SO,

[D]NO,

0.29) TP @280 HTPen BFWEID. HHFY T B8 o
[A] 8 : 80

[B] &5ot058%: S0

[C] Frodod: SE@okeo

[D] 8erR: 288

0.30) 20TPRES° HIB0DD BT Kore IB DEE® LeIS?
[A] S0 $6

[B] 235w $&

[C] S 56

[ D] Sy 58

a3y P 500 Q GwE), 50 I AP S: 7 wond af S FYURDmRS T
8053 Fere Sogye AP dod?



|A]7:5
[B] 3 : 4
[C]1:3
[D]5:7

Instruction: 808 SSee80 erdorr SSerpraren TrHosb.

28 $8K86° 60 08 s’ 12 06 S0 ©der, 13 Hod Seo wradel, 10
5008 800 B85 NS BRIETD. 5 008 @é;)@", 8608, 8 HHod Bdewo 8y, 5
2008 925), RO BRHES WADS ah wdeEr, HRED BPHET .

032 28 DG PR KDL Jeegthe Hows?
[A] 8

[B] 13

[C] 15

[D] 17

Instruction: 808 JSSTe80 erdorr SSerraren TrHosb.

28 $8K86° 60 08 s’ 12 08 S0 ©der, 13 Hod Seo e, 10
5008 8500 $8%and BRIEED. S Hob @‘ei)@?, ©S%ed0®. 8 K008 Bdwo L), S
2008 925), BB BRHES WADS ah wder, HRED BPHET .

Q-33) &8 3T Bo& 8y IFHO D08 Hod Dreghen ARHESD?
[A] 5

[B] 10

[C] 12

[D] 17

Instruction: 808 JSSe80 edorr Sepraren TrAHosb .



28 B8KBS® 60 Hod 3)@56%(’3: 12 08 80 @S&J@?, 13 008 8leo e, 10
5008 B0 B85 NS BRIETD. 5 008 @él)@?, BS°ead0®. 8 008 Ehwo &), S
2008 25), B BRHES WADS ah wdeEr, HRED BPHETD.

030 8der, P 858 Jorghe s dod?
[A] 12:13

[B] 4:3

[C]17:18

[D] 17:13

Q.35) S oF, o8 o B5h HErGer aTD. ©F TE) HIE T @Y,
©BE. 008 ©IEE grdsdH FHE DS ?

[A] So@
[B] &%
[C] so5¢%
[D] &0

Q.36) OWL = 50, N = 14 ®ong, TIME = ?
[A] 45
[B] 47
[C] 43
[D] 49

a.37) 2.8 S8 go® RIDE= 3218, TALK= 7564, DIRT= 4213, LIKE= 8562 ®o»ns
A =?

[A]9
[B] 3



IC| S
[D] 7

038808 FES° Fad PN JIDH Sowodod $O5°IH J6?
[A] 26 es0ise sm-08 SRS £559

[B] 28 &ardokn Snohme eosae S3:06

[C] 88 K003 IR 505D R HB%0d

[D] 52506° @RS §%0 &dRPATS

Q-39) TR0, GHTZRHS DesHen YT GOE PRI O QOB ?
[A] 56585 285

[B] &r58 ©5eed

[C] er88 e Jogcssrd

[D] $00® So0&d 5205

Q.40) 30EE3 Teenid éoaaegéj 307 Doy JTed0 18, DN0 Lordh Jogge JHoedd 14.
30583, DR Dogge nso 16 ©oNsd NS0 Q05 D0&?

[A] 2
[B] 13
[C]9
[D] 7

Q.41) 8.8 Btnomost Bod $chi) 52 D, 6 iy Hehie W B 2 D, Y
S0y Bo@ SOy EoB 2 D Dy, D Erdd Hobiy O SoHE® Ko wowd
D) B0 HSHiy Do?

[A] 27



|B| 21
[C] 25
[D] 23

Q.42 08 dend Ferdem S St 15% T 3 HF% edby 3ndo &r. 8700 wowd,
900 DO ?

[A] Rs. 5,000
[B] Rs. 6,000
[C] Rs. 5,500
[D] Rs. 6,500

as3)a.8 88 S PIXIE o936 OHXHDS £203 ELEANOR o036 39 $rdo8?
[A] DKDAMNQ
[B] DDKAMNR
[C] DKDANMR
[D] DJDAMNQ

Q.44) 2.8 3@59 8. 10, 15 So@8 $8 63y A, 3363 e 5858335(3 B TPOBTND. S
a3 DYy Dar, 10 e 73’J<‘§ e e, Sségaw% & 5% &R0 0O 0B Pos
orPond Dods?

[A] Rs. 100
[B] Rs. 110
[C] Rs. 120
[D] Rs. 130

Q.45) PeONY B 2B DBLRP0B BB D00ErS?



| A ]| BO0HS
|B] 2@ )00
[C] Boycod
[D] 282056

Q.46) 808 J5Troel) HH 808 &0 rREEM SSrmraren 83508 .
(1) 'A+G' @08 “G& A 89

(i) 'A-G' 008 'G& A e’

(iii) 'A-G' @08 'GS A 58’

(iv) 'AxG' 008 'GH A D'

L+MxN @onsd N& L d% @08 ?

[A] o3

[B] 58

[C] &rsh

[D] &oK88%0y

Q47) (535, 252)2 — (525 —252)F S0P 087
[A] 3 525x252

[B] 4
[C] 5
[D] 6

Q.48) 2cos® = V3 ©owd cosO x tand =?
[A] 1



[B]V3/3

[X]V3/2
[D] v

Q.49) 2250€8S° ¥& $3o8)?

[A] Giro@ 38 00 DS 8
[B] 965055 48 509 305 38
[C] 65,6 #8 009 DkosS 48
[D] Desos& 48 00D 5008 88

as0) a8 B8 SiS 6. 5, 10, 20 Fep 56 Sirdore eamom. a8 dndo dend &r. 385
o, 8. Féa Dogy Jod?

[A] 13
[B] 11
[c] 15
[D] 21

a5 MS Word 6° 85 %0 DY Bahmed8 endrnod ardse &7
[A] Ctrl + v

|B] Ctrl + z

[C] Alt+r

[D] Alt+F4

as2) 1.9, 8.4, 3.6, 5.80 ogsNEo Doe?
[A] 5.1



|B| 4.7
[C] 5.2
[D] 5.6

Q.53) 808 $BBe0S® ‘7, ‘xen THETEH wowd 4 - 6 + 1x15 + 3 Jend o&?
[A] 24
[B] 20
[C]-5
[D] -4

54800 8BS TX6, S AR6?
[A] SSH

[B] HTML

[C] PPP

[D] POP

Q.55) 300¢3¢3 11 (e Sogrge STedd?
[A] 5.5

[B] 6

[C] 6.6

[D]'S

ase) ePBAH TPAH TeEe SrOE A Tendy TETedH 8 mEd  epedore
Sgcmo{i)o&)?

[A]'5



|B] 6
[c]7
[D] 8

Q.57 T8 &5 303 oD 15 8.8, $8e0 I PAPBoAS Soegd HEIH B6A 35 8.80.
D808, Soo BEIH 8OA 15 8.8, HosrB09, D 88A 5 8.8, $eHikod.
o8 8 HB0 85 308 H0 Jod ErSos® ¢od?

[A] 35
[B] 40
[C] 50
[D] 15

Q.58 ePKN0 [EF0ea0S® God FeKo B8 Grrsrsee?
[A] @880 @00

[B] e05580S @200

[C] Hhaegdes 200

[D] s08es @00
o

Q.59) 80X HELIO[ RS SEH0E HBAW EE)E Sdrerdo adod.
RRSLARNISE

1. 0088 &armrgcinen SHome eash.

2. 8085008 GITRIOMED DTEOMT &TED.

3. DIrEEERD Sien Bden FaHIS).

& 1800 EwR0DS® DB Jesdn?

[A] Qeedorr ¢od Hesen .



| B §°085008 €5a°5R5050en )ty
[C] 8%550re &3y een ©oisr &argrydioe.
[D] deedore Hesen e088m 8Horr éaed.

Q.60) K38 griS® X* @o& A, ‘+” @o& R, ‘+’ @08 E, ‘-~ 008 B ©ond
24B6E2A9R 17

[A] 14

[B] -3

[C] 17

(D] -10

.61 808 B oirod FED V&2
[A] &°G &

[B] S003ey

[C] 88F &85

D] &3

.62) 128 8 DRHS RENE 20166° 850 a1 315807
[A] 8%

[B] toareee3

[C] &858

[D] e ymeerE

.63 2014 50 BN T0HCHIRDE® DETES 85508 AH0 [ES® .8 AT ?
[A] ODE 208



| B 32885 $°58°S
[C] &°6% &8Sarck
[ D] &oerh® se630RQ

Q.64) 3B 20eG 03 o B VP ore Gokd?
[A] Sredrd

[B] 808 &5

[C] 5808

[D] 8eorS e 878

Q.65) (a-4)%% dBoEod.
[A] a3 - 12a% + 48a + 64
[B] a3 - 48a% + 12a - 64
[C] a3 + 1222 - 48a - 64
[D] a3 - 12a2 + 48a - 64

a.66) B &8 HS° 50% 5 20 &erd® 500 B, C, BS® 882 0ADS 5 4 &erd®
378 B, C a8)i I 8%erS° & HAN Frd TBre?

[A] 10
[B] 8
[c] 12
[D] 9

Q.67) 0N HoKK m@oé‘g 2B0DNE 0P ?
[A] PSSR



| B| 28,0
[C] oersS5dS
[D] &35

0.68) BDLF TS 98508 (HerSSes FPobD ePSDE QyB507?
[A] 850

[B] $& e

[C] shgrriso

[D] 8559

Q.69 &8 S 5% 26@058 &, 12358 e05mps. 20 @8 10% ordo SPotreod &
55055 Do ©LTD?

[A] Rs. 1,335
[B] Rs. 1,380
[C] Rs. 1,430
[D] Rs. 1,300

Q70)22x - 40 = 207 + 3% ©ond x =?
[A] 14
[B] 13
[C] 12
[D] 11

Q.71) BotH Hoaye AP 4 : 3, K.r.gr. 8 ©ond, E.°.50.?
[A] 48



|B] 96
[C] 64
[D] 84

Q.72) ar8E BB S oS B0 ‘Beby erso’ wh Dol SuEde §¥0 GHRPACL
38,5 d&?

[A] s0erdaie @o3oh
[B] 2&° 8800

[C] or&0eS @oedoh
[D] 8,8 ®0o&0h

a.73) 1929¢° @6569051326 6855500 ©F50 ANe3?

[A] B8R ehE0 sBaotn odEoSEo

[B] 3°8 TPor 50506058 Q820es

[C] B8R $38H850 8Bt FEEr™ GeodnothHed

[D] Zrthed Howofod I8 &rEneds ow~dh ool Hibdo JTdohe

Q.74) 88388 JryBoBso Bl R KEhd0 K ©oNE80D0s?
[A] 1944
|B] 1945
[C] 1946
[D] 1947

a75) R 89 Gwg), odmd a8 af) &rdd Y. 0o Y. Q &wd) erds. wond R& Q
DD ?



|A] 0@ Bt
[B] So%ent

[C] 58

[D] 08

Q.76) 808 T&3S® FrBrarg) HB0F0E .
®0, tHoH, 5253, WA

[A] 93y 5 BoiHS® Soeron.

| B] @y oo eotran.

[C] %) &0 2errod® Hotbaran

[D] &%) 385 2020080053

Q.77) §0& A B0 @géoé@é Hrren $Her oftre BEr) $r8)08. 8St
DS Ty MHBoLos.

[A] SUVNE
[B] APTLE
[C] ARMS
[D] RUJTIPE

0.78) g $00D '8 wmd §e8 50
[A] 85085

| B] 0206 oo ool

[C] &oer

| D] eSS

55 AE)& Deedn?

“w



Q7988 H0D% . 920 @y 15% ergio FomHeei. 20% ergo Tareod @ Sk
DoBE> wEryD?

[A] Rs. 1,000
[B] Rs. 980
[C] Rs. 960
[D] Rs. 940

a.80) B8 S0ir08° &P &HABPN0ETIS °8e0?
[A] 8eag $85S® ¢ 580 DT

[B] 8eag (380HS® derod3 are 51038

[C] H0%80m Srthiiod

[D] Sordo BE&F0m doHhEob

Q.81) (B80es P50 456 5.20.80., ®3he: D& 24 0.80. wowd T Jos?
[A] 32
[B] 36
[C] 34
[D] 38

0.82) ©POWPEI0 A AT D ?
[A] OGP o581

[ B] eséoesioy 25810

[C] $odr8 58S

| D] o°8R 5058y



Q-83) 7 PJ0d” &oTrdN Sogy HB?
1,8,4,27,9,?, 16.....

[A] 32

[B] 48

[C] 64

[D] 72

Instruction: 8o& J&droedo HOMKEIOR Tl STRSore (808 ST Tren TPONOE .

DB 3)C5°§C§£QD J, K, L, M, N, O 50850 P 28 $%38° & Hod HA8
dﬁ?iﬁai%éom 3@){53@3_63.

1. P, O, K 50805 New d 958 Qenstse.

2. P 583 Q5 3D 508050 0 H5)S H& ID3 J eaed.
3. M 506556° e

4. N $8)3 HEZHS 805 L $5)3 50398 K eamyd.
.84 O H8)3 AEHIIP Jenth 63 NP0 QH?

[A] L

[B] J

[C]M

[D] P

Instruction: o0& S&rwrdo HOKEFoN T erdore [HE)8 Srmearen Trdod.

Rlablableh) 33@56(3@0 J, K, L, M, N, O %0600 P 28 35H38° Q8 L0008 HA&8
oﬁ;vcﬁe)%éom ?Denzﬁa@&ti).

1. P, O, K $080% New & 958 Qendt8sh.
2. P 553 Qs 3 508050 0 H5)S H& 3D J e,



3. M $0555S° 8%

4. N 583 HEIHY 208050 L 583 250398 K éaed.
.85 SHVS® 50¢558° G510 ASE?

[A]N

[B]J

[C] P

[D] k

Instruction: 8o& J&droedo HOMKEIOR Tl STRSore (D808 ISP Iren TPONOE .

DS deeghen J, K, L M, N, O 00 P o8 S6HIS Ash ol ©HAs
O‘ﬁPCﬁaz‘Dgéom QentHTL0.

1. P, 0, K $8c%0 New & 958 Qens®8h.

2. P $%)3 Q5 39S 080 O 853 HE 39S J éamyd.
3. M 506556° Seo

4. N 583 HEZHS 8050 L $53 80398 K eamyd.
Q.86) SHBS® DI $0D @& FKoS® &H HH?

[A] K

[B] P

[C]N

[D]J

Q.87) &8 &8 . S000 Botd Sseeorr B Baord. ©B 2 HoSBE P
i) 5% Jerde H68°

i) 5% 856 Sens® Barad T2 @dth Fod Sbe K Twe

[A] Rs. 11.00



|B| Rs. 11.50
[C] Rs. 12.00
[D] Rs. 12.50

0.88) BHRDH0 Jreso 18 £.20.8. wow 78 K, e SHI 3 0.D., 5 0.5
29003 3o BSr0sE 8Heso do&?

[A] 4 em
4 250.8.
[B] 6 cm
6 20.5.
[C] 8 em
8 20.80.
[D] 7 em
7 20.80.

0.89) eSSBS0 SH QQS S55en ET00?
[A] 8

[B] 18

[C] 16

[D] 12

Instruction: PO (5;20§ @ﬁoc;?@oﬁroéj DIP0B $000H0NS SeoRbe aebre 88,5 808
o“aégé BenH& 0.

Send ABL GHL MNL PQL

Voo P} 150 170 200 200



SN Gareed 500 600 550 600

SN 750 610 700 600
VRTINS 100 130 100 110
335950 175 100 100 75

0SNG 115 100 150 200

BenSK @08009 808 HE e dSTErTren H80S08 .

a.90 GHL @ﬁoc;?’moﬁaoézS 85 DI 08 Q00 IS ISP ) BEND I%00?
[A] 340

[B] 430

[C] 440

[D] 330

Instruction: PO 3;5% @ﬁoc;?e)oﬁnvéf DI5P0E H00H0N SeoRbe aebre 88,5 808
o“aégé BenH&0.

gend ABL GHL MNL PQL
O30 D 150 170 200 200
SO B2 500 600 550 600
SN 750 610 700 600
DED00H 100 130 100 110
%050 175 100 100 75

JrodAE 115 100 150 200

BenSK @08009 808 HE 10 SSTmraren H80S08 .

.91)  ($oTPeCHOS® D% Hisren Gayom?



|A] ABL
[B] GHL
[C] MNL
[D] PQL

Instruction: PN 5;50% @fom@oﬁwéj DIP0B $020H0NS SeoRbe b 88,5 8ob
o“aegé BenH&od.

608 ABL GHL MNL PQL
SINeLLRSH 150 170 200 200
SO B2 500 600 550 600
SN 750 610 700 600
DED00H 100 130 100 110
%050 175 100 100 75

oSN 115 100 150 200

S @880 808 HF 0 BSTEraren H80HS08 .

0.92) @) (FoTrodrs® 8O o)l 88 Hisren, IS0 Hdsee SoayS® Bko Jod?
[A] 1850

[B] 1810

[C] 2250

[D] 1800

‘P
Q.93) sian cotd NS

cosl cosecd

[A] cosb



[B] sin6
[C] tan®

[D] secb

Q-94) &8 B563, & Sots £°Q) DTdeaen BSgeTTa.

565 wEszes SEoT, Hoghth erd G Biee GHERED.
Netel:clon)

I ity spiarsn s,

I S0t SEB0 HBAH BBy GBs5».

B FEOIB BN I0N0NOS® HE B°8)Borr ©kd8%08" BP0 .
[A] dzp8es T SEsd eb0808.

[B] doedes IT e e0kio:00.

[C] I, II Sor 90b8ram.

[D] T, 11 el 90580358

Q.95) et ol asr &5 B3O8 Sowohodod?
[A] RP858 DAGPK0D HBEES

[B] Ses6 Bsmyod 506853

[C] ththae8des SSorrep HOESS

[D] Bose S5 DB

Q-96) &8 (BEexSen, Tl 8ot &R ATpdiesen BRIRTTOD.
L8e3en:
1. 35 58 Trer eJ3&Torr $r00b.



2. e3en e8°150 2P0 HHEI0E ADHEETHD

Neyel:c}

L. 35 98 PSS 0J8E $y8.

I1. ©388 Hezen TS MriA8 HEDETHE.

20N DBELB [ S0A0HOSE DO o0, 8orv @é}é@@oﬁs ERPK08.
[A] Noedes 1 SrER 058008,

[B] doedes 1T simi@ad o0foi0d08.

[C] I, IT Sotr edokdeomn.
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Explanations

Section 1

Q.1) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.2) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.3) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.4) Explanation:

D 12 m c

13 m

A B
égo = AC, gh220 = CD

égzﬁééﬁ@ eheo SPEH = 12 .

ég SEBR0 gheso B&’QDQ _ \{(H'E'QJE —(4bma)”

122122 = J169-144 =A25=5m
BE355% Brrogo= DD x 3tey

12 x 5 = 60 %5.80.

Q.5) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.6) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.7) Explanation:
1 20.8. = 18.58.%.

A, B o g &80
= 2225 % 18.5 =411.6258.5.

Q.8) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.9) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.10) Explanation:

you are John net let fat
who are you wet net let
John 1s good get set fat

2 8 S000 is IO get T set K KrAK06. sPeE 6 danosTo.

Q.11) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.12) Explanation:
Sen 30 = 60 8.8v./Ko.

./,
= 6[11><:i=E
18 3



see0 = 30 ?oéémz

Sen 8PESY s .

=—x30 =500
3

Q.13) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.14) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.15) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.16) Explanation:
9876 + 34.567 - ? =9908.221

? =9910.567- 9908.221 = 2.346

Q.17) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.18) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.19) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.20) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.21) Explanation:
a+b+c=6a2+b%+ct=14
(a+b+c)?=a’+b?+c?+2(ab+bc+ca)
6% =14 + 2(ab + bc + ca)

36 - 14 =2(ab + be + ca)

ab+bc+ca o
="2=11
2

Q.22) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.23) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.24) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.25) Explanation:
BD ACEG T FH J,

+5 +5+5 +5 45 +5 +5 45 +5 45
GI FH JLNKMDO

Q.26) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.27) Explanation:
05 FPBS® Sren = Vs

~



D& = Ya
So&® S’

%

3
3ot B InBo aren

FOIO)

2
3

= + -

W 31 _see_ 1
51 3 12 12
Jeen, X
:E:E:II:IB
12 12

Q.28) Explanation:

Multiple Choice Type Question:

Q.29) Explanation:

Multiple Choice Type Question:

Q.30) Explanation:

Multiple Choice Type Question:

Q.31) Explanation:

Multiple Choice Type Question:

Q.32) Explanat

ion:

2 34+ 11
+-—=— =—
2012 1z

1
4
** Explanation Not Available **
** Explanation Not Available **
** Explanation Not Available **

** Explanation Not Available **
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@, HEED BRICTE = Iodo 3)(25"5(%)&1)— (S0 4 JgHen 8w 8 + ePer +
85608 + &8, R0 SHHCTD)

=60-(12+13+10+8+5+5)
=60-53=7

225) B5HE PHER BHHEI T = Bdwo E) BEFETS + 1E), ©der
EInEISY

=8+7=15

Q.33) Explanation:

Des§, 85 ndd

QIED

@@@P, LIS aa;léém& = &0 PgBoen— (80 4 NgHen aéqo“aé T8 + @éi)@? +
B8 + e, e BT D)

=60-(12+13+10+8+5+5)
=60-53=7

2.8 DT Eo8 oD st Irmgher = GRS, der + e, 28 + eder,
33%5“3 a@éé@&

=5+5+7=17

Q.34) Explanation:



s, 26D aRHETH = Ido Joeghen- (BHeo 4 HFHeo BRIE T + SOEP +
B8 + aE), e BT D)

=60-(12+13+10+8+5+5)

=60-53=7

©OEr BPBGaT® = 5+ 12 + 7 = 24

PHE Bx0GTH =13 + 5= 18

s, i 8t oo Y =24:18=4:3

Q.35) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.36) Explanation:

80l ©F8ITe Ks°80
A-1,B-2,C-3,...72-26

OWL— 15+23 +12 =50
98 Ao

TIME - 20 + 9+ 13 + 5 =47

Q.37) Explanation:



) R 1 D E
adertr 2 1823 B
m T A L k

4 7 5 6
) D I R T

3de1 2 19023 4
w) L1 K E

= 2 =] &8

i, ilio S0 RID &% 3,2, 1

E—>8 T=4
1, 1veo oo I =2

i, ive) 0 L, K —» 5 8o 6

o ABE 7 95800,

Q.38) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.39) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.40) Explanation:

Tee0id Doggen = = X[, Xp, X3, X4 908584 .

ot +XE=
3

18

Xz +X3+X4_14
3
X| + Xy + X3=54
Xy + X2 + X4 = 42
2 3 4

X1 — X4 =12



X1+X4:16

X1 — X4 = 12
2x; =28
X1 =14

x4=16-14=2

Q.41) Explanation:
Bod HHoy = 52
59 $AHy = 52 - 2 = 50

B0 Erdy Sabioe S = 2 O
0
=25 -2 =23 5%

Q.42) Explanation:
A = 8700, T =3d¢%H

o

R=15%,P ="
A=P+1
=p[1+E]

100

8?00=P[1+15X3]
100

87"IZIIZI:P:><E
100

_ 8700%100
145

P = &000




Q.43) Explanation:

P I X I E
-1 -1 -1 -1
O HX O D

ELEANOR
1 -1-17" -1 -1 -1
DK DA M N Q

Q.44) Explanation:
5 Kesd DY) T ey $8

=5x12x 10 = 600

10 Kesld DF) T¢5 aw§y 658
=10 x12 x 15 =1800
S5 20§y Imwdo &Y

= 600 + 1800 = 2400
&J%08 = 5%

Indo §Pod &I 085

24005
100

=120

Q.45) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.46) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.47) Explanation:

(a+b) — fa—b)?
ab

_a?+2ab+b% —a? +2ab—b?
ab

_dab _
==
a=525,b=1252

4

_dab_ 4x525x252 _

ab 525x252

Q.48) Explanation:
cosO= NG

2
-0 =30°

cosO x tanO

cosOx

=518 |tan B =
cosB cos o

o s1n30° = 1%

sin 8 sin@]

Q.49) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.50) Explanation:
58§3 dogy = X ©08%8& .

Ew. 5 36 dend = 5x
gw. 10 $& dend = 10x
8. 20 & Dendd = 20x

~



oo 5"@ Qend = &r. 385
5x + 10x + 20x = 385
35x = 385

Sox=11

Q.51) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.52) Explanation:
o8%es B0 Teadhre
1.9,3.6,58, 84

oedo Jogy = 4 el

vlaliatiTe 0oe JTPH0 ©959eod

=2

2, 3 ordHe c“o26°266

36458 94
2

47

Q.53) Explanation:

4 -6+ 1x15+3
4x6+1—-15
BODMAS Jc%o Hsedo
4x6+1-5

24 +1-5=25-5=20

Q.54) Explanation:



Multiple Choice Type Question: ** Explanation Not Available **

Q.55) Explanation:

11 Jee: Sogge Sndo

_lxiz_
2
Qo0 (¢

Q.56) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.57) Explanation:

aaco
HEsEn6 *}— AP,

eS80
A
B 5 & 8o,
& =
W 1
o n
a5 Edn

A #3 308 a;:so Q00D B 508 a;aosoé’s VAl avilele!
=35+5
40 8.5,

Q.58) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.59) Explanation:



Multiple Choice Type Question:

Q.60) Explanation:
24B6E2A9R 17
24 —6+2x9 4+ 17
24 -3 x9+17
=14

Q.61) Explanation:

Multiple Choice Type Question:

Q.62) Explanation:

Multiple Choice Type Question:

Q.63) Explanation:

Multiple Choice Type Question:

Q.64) Explanation:

Multiple Choice Type Question:

Q.65) Explanation:
(a-4)’

(a-b)3=a’ -1 -

2-(4)-3(a)(4)(a-4)

a3- 64 -12a (a-4)

a3- 12a? + 48a

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

3ab (a-b)

_ 64



Q.66) Explanation:
B A DIS® 50% B,

IR BRI DY
40 40 C

&

10

=1

¢-

~.C 10 &%S° 53r8 BeH.

4
i
4
T

Q.67) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.68) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.69) Explanation:
Ssedo = 5%

©oS B = 1235

S o 100 % udys S
100 - ¥ mmio
_100x1235 _100+1235 _

ot ereeso = 10%

AN IO
¢ ~1300x 12 _ 1430
100

Q.70) Explanation:



22x - 40 = 207 + 3x
22x - 3x =207 + 40
19x = 247

13

X =

Q.71) Explanation:
3o Joggen = 4x, 3x
K. er. =8

S0tk Jogge K..g0. (x) = 8

3o Soggen =4 x 8 =

=3x8 =24
24, 320 8.3°.059.
24, 320 8.3°.00 = 96

Q.72) Explanation:

Multiple Choice Type Question:

Q.73) Explanation:

Multiple Choice Type Question:

Q.74) Explanation:

Multiple Choice Type Question:

Q.75) Explanation:

Multiple Choice Type Question:

32

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **



Q.76) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.77) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.78) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.79) Explanation:
30D $8 = 8. 100 90808

153080 erdfo trareod 100 + 15 = &r. 1150% elmd.
208°80 ergfo Teare0d 100420 = &r. 12005 ©55®.
SR

115-—-—- 920 eons

:>~@><920 = %60

OEFDYS B8 = 5. 960

Q.80) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.81) Explanation:
Behes o0 = 456 $.20.8.

BeHes B0 =2 x &Pl x &
= 1o x o0 x 24 = 456



g0 45 20.80.
RTINS

Q.82) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.83) Explanation:

1.8.4.27.9 .7 16
R o T 4

2.8 269 Eécgo EOR G608 T8 28T Hodo EDAH.
12=1

22 =4
32-9
42 = 16
o5 JSorr
23=8
33=27
43 = 64

Q.84) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.85) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.86) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.87) Explanation:

P =8=. 5000
R =5%
T =2 5%
g = IR
100
_ 500052 _ 500
100

3858 CI = P(HiJ“_P
& 100

5 2
5000[ 14— | —5000
100
_ o
_ 5000[1+—] -1
20
20120

= 5000 x—L = 200 _ 515 59
400 4

o = 512.50-500=12.50

Q.88) Explanation:

Ne0e H$&Bye: T30
= ¥sh(a + b)

h =% =3 0.0.

e.8 a0 PEDH = 20.80.
Yox3(5+b)=18

15+ 3b =36

36 =36 -15=21



Q.89) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.90) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.91) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.92) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.93) Explanation:

sin &
=tan
cos o
tan Bxcot8 1 .
= =ant
cosecH cosec o

Q.94) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.95) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.96) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.97) Explanation:

Multiple Choice Type Question:

Q.98) Explanation:

Multiple Choice Type Question:

Q.99) Explanation:

Multiple Choice Type Question:

Q.100) Explanation:

Multiple Choice Type Question:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **



